TRADE:- TEXTILE WEAVING
SUBJECT:- FABRIC STRUCTURE AND DESIGNING
CLASS:- 10+2 VOCATIONAL

PAPER CODE:- 101

Question Bank for Disabled Student

Paper fabric structure and designing
Trade-Textile (Weaving), Paper Code-101

(1) Multiple choice Questions (MCQ) Objective type
(1) A< g=3 9oQc B T9y w3 22 o fare3t It J|
(A) 11 (B) 2/1 (C) 1/2 (D) BuIgs TSI &l

Answer- A

(2) T9UIHI IUGIT =3t Ko yuas™ get Il

(A) e (B) TIUT (c) <= (D) fan <t & &t
Answer- B

(3) <fs g=3t &g Io fofimr fsafes Age I

A 1/2 (8 2/1 (C) 1/3 (D) GuUIIIHI

Answer- D

(b) 2fes g=3t dE g2gt J

A) 900 (B) 450 (C) 1800 (D) 1750
Answer- B

(5) I fBfmr S faodt oo g=3t & fami adt J1

PART-A



A) A eRs (B) <TIAUHS g=3t (C) #<s (D) TIHcRs
Answer- C

(6) Fdls ge3t fg foam et & yore3r gt 3

A) TIY T (B) [ (C) TIUwl e T (D) SuIa3s S I &t
Answer- B

(7) <33 HIH T JuUT (I g3t (€9 gz I5|

A)  ATS (B) ©IFIIFAIIF (C) WIS (D) Ja=Ea

Answer- D

(8)  PPiT Yd &H THI

A) nweaug g (B) ffarudfig (c) faruaiteg (D) CSuIT3 S At &l
Answer- B

(9) EPi 20 JT 3 JUT T B JN|

A) =@M (B) W (C) sSgsedmt (D) Suda3 S du &l

Answer- A

(10)  Yferdt Ja1 fogz &<t I

A) ®& (B) TI (C) s (D) iwr

Answer- B

(1)  #AR IJTYF I

A) Hu3rer (B) FeHT (c) fros fefomrs e (D) BUIE3 A



Answer- A

(12) @Y ST g e/ TJ 04l Ia|

A)  TIUT (B) ReeUd (C)¥S (D) &
Answer- A

(13) C.AD T Y o+ &

(A)  dfugeg 833 f3adiféar (B) =fuged gahifes faamdifaar
(C) dufes3z 833 f3mdféar (D) GuUIas Al

Answer- A

(b)) 3= vl © far IR Ko sard A I

A "IBYyR  (B) €ug () T (D) fU=sBURA
Answer- B

(15)  fogF Ja1 qu fT JraHt § Auer I

A)  TI (B) @ (C) UWE (D) FTH
Answer- D

(2) Match the following type (objective type)

(16) e ad| Answer
(A)  FEHES  (A)  AIWTS A-B
(8) dudsHgest (B) <fs B-A
(17) fuesadi Answer

(A) 171 (A) A ge3t A-A



(B)

(18)

(A)

(B)

(19)

(A)

(B)

(20)

(A)

(B)

(21)

(A)

(B)

(22)

((A)

(B)

(23)

(A)

(B)

(24)

3/1

e a3l

firss 31

U e IH

fHss ad|
T Yt g
ECCRIEIREE]

firss 31

AdZSr dar

e ad|

(B)

(A)

(B)

(A)

(B)

(A)

(B)

(A)

(B)

ofes ge3t

<eC U S yuresT

T O & YTra3T

HEY eniragr fawrg &3

ECEEGL

PPI

EPI

yfonat + Jfendt Jar (A)  e9rat 391
yforst + AlzgSt dar (B) Azt ST

e ad|
AT Ja
S Jar

firss 31

(A)

(B)

B-B

Answer

A-B

B-A

Answer

A-B

B-A

Answer

A-B

B-A

Answer

A-A

B-B

Answer

A-B

B-A

Answer

A-B

B-A

Answer



(A)

(B)

(25)

(A)

(B)

(26)

(A)

(B)

(27)

(A)

(B)

(28)

(A)

(B)

(29)

(A)

(B)

(30)

(A)

(B)

CRIUGEI (A)

Igr 31 (B)

firss 31

3d

fJent B&t arafia Jar (A)

feres T Y31
fHes 33|
Sfgwt T AT
Sggdlt € AEY
fHss 3|
It T HAH
AJS! T HAH
fHss a3d|
B+ UsT
SrcRyircy
fHes 33|
1/3

172

fHss ad|
gHSC g3t

HZS

(B)

(A)

(B)

(A)

(B)

(A)

(B)

(A)

(B)

(A)

(B)

Ifgmrdt

BT Jar

CIEACE]

f&a Jar

ST IIT

f3& Ig&n

A< ge3t

A-B

B-A

Answer

A-B

B-A

Answer

A-A

B-B

Answer

A-B

B-A

Answer

A-B

B-A

Answer

A-A

B-B

Answer

A-B

B-A



(3) Fill in the Blanks Answer

(31)

(32)

(33)

(34)

(35)

(36)

(37)

(38)

(39)

(L0)

(1)

(42)

(43)

(Lk)

(45)

4

(L6)

(L7)

UGS TEF E oo o | @)

/1T s geft e wee. ... TIS&H € Agas I I (3w)
Aes g3t ffg.nn... dl S ygre3T gt I ()

s g3 ... od & ymezr A I (2ee)

JTHT TN B FuF fawg 3T AT I (FASET)
II-IIHIH TBIUT ............... ge3t €9 g=¢ Ia| (HIEIS)
ISR FTQE B ... g3t & 233 A A I (Ta=a)

A AR UZ T fad.............. JI (@A)

EPi € YT SH...cooeee. J1 (Ends Per inch)

CAD T YT SH...ooovvrree JI (Computer Aided desiging)

................. 391 It § TU T T J| (T

T T T 39t v 3E gEer J| (45°)

Picks Per inch U3T dJ& S ................ T @93 i3t At 1 (Pick glass/counting glass)
BE I, SRTECIINCES)

RECT O TCTHE S oo, Ac™Y J13t ©F @93 3t 7Sl J1 (weft stop motion)
At / IIB3 TR Answer

UdlE ge3t JuBIA g=3T & f[TAH J | (A /9183) (A)

Aes ge3t if9 e U4l € YIa3™ 9ot Il (Ff/I83) [AB3)



(48) 3= B ST I3 Ul § WEI-WIETT Feds J3T A J| (AH/IBI)  (Ah)

(49) 3/1 cfes g=3t B8 9g IISH & @33 It I (A /ISB3) (7

(50) cfes g=3t ©nrgr gfenr feadfed TfesT 60° T aT Segemi I&| (AJT/IB3) (IB3I)
(51) dIrge 3T T i g J| (A /I183) (Ft)

(52) TIUOEr gt 3 e ACY I13T H JIa! I (F1/IB3)  (IH3)

(53) EPi g JT 3 U T Bl @dmr get 1 (A/as3) (A

(54) ST 1 ASIST JaT & B fImd I (A /I83) (Adt)

(55) Ao gedt T e e 1 HI= J| (AJ/IB3) (IS3)

(56) I BH T GuIB IR ST Barel A<t J| (A/I183) (F)

(57) ASII ge3t Al ge3t & @Tads I (A /IB3) (AB3)
(58) yfeHdt Ja1 5% furest feg 9 Ia| (At/I1%3) (AS3)
(59) & I A I § wuE g A e I (F/IS3) (F)
(60) ¥AH T U & Jar &t I 3 J& yge a9 der| (A1 /I83) (I83)
Very Short Answer Type Questions PART-2 (3 Marks)
(61) ud® ge3tatI?

(62) 3=t W3 AgII g wizg TH|

(63) SUGF g3t Tl © & TH|

(64) HEI g3t St faHT 2 &F 8|

(65) Jar=d ge3t ot I?



(66) =R fRT Us o3 gar Jie T9U U 3 &< B4
(67) ouUF femd@re 3t I= J?

(68) EPi 3 &c f5u|

(69) PPi3&c f&u|

(70) FUT < B! far g 3 fogga aaet I?
(71) U T IIGR Y3 A3 7 AdET I?

(72) CADIFEI?

(73) a1 fagt &t I?

(74) J91 899 3 &< fBu|

(75) ®B w3 W Ja1 T Hafamifad ygre <A
(76) WAH a1 I § fa< ygrfes aaer J|
(77) v Jar <t I § faR ygrfe3 aaet J
(78) W& =31 T 5X5 T f3Ads S|

(79) HISS g3t I?

(80) JUR femdHs T 337 & &Y

Short Answer type Questions (4 marks)

(81) UG =3I ot I5? feA3T &S THI

(82) SUBIH eI ot I&? fIAH &% ©H|



(83)

(8L)

(85)

(86)

(87)

(88)

(89)

(90)

(91)

(92)

(93)

(94)

(95)

(96)

(97)

(98)

(99)

(100)

(101)

e gednv 59 TR

IR <fes g3t T famfes 52797

A ge3t ot 37 f3Afes, 39ece w3 U9 uss g8
Aea ge31 of I? f3afes g5 ANS'E?

s g=3t ot 37 f3afes 557 3 AHgE?

HAes g23t w3 Adls ge31 79 wi3g eH|

HIZIS g=31 &t J? f3rfes 56|

Jorsd g3t ot 37 f3Aes, 39ac w3 9" us's 5579
IIS JUF™ ot g I?

IS ge3F o Jer I?

31 Iag © wiorg 3 JaT St fIAHT B A |

341 949 T fI39 =6

341 T Hefefamifes ysre ot 37

Ja1 & 9= § ygrfes da9s =8 33 5|

a1 fge ot 37 fersa o ©H|

dfugeg 833 femfeféar ot 37 ferag &5 TH
auz fendrs of 37 fore 337 99 ©A|

EPi W3 PPi ST w33 ©H|

EPi W3 PPi U3 & gwact § o= ygies aa8 I6?



TRADE:- TEXTILE WEAVING
SUBJECT:- TEXTILE TESTING AND DYEING
CLASS:- 10+2 VOCATIONAL
PAPER CODE:- 102

Question Bank for Disabled Student

Paper Textile Testing and dyeing
Trade-Textile (Weaving), Paper Code-102

(1) Multiple choice Questions (MCQ) Objective type PART-A

(1) gt/ U & SAfcT 3 &t = IJ?
(A)JUZ /gdl T SRS II9& (B) IuUT T ICe dwe’ (C) fH dwe (D) IUF <
HAGST deT

Answer - A
(2) I fafemr 9 fggz o<l @ 2 & faAH 37
(A) s (B) B=<C (C)c=<e (D) K32
Answer - A
(3) ysE TR ITEI?

(A) faa RaIdggdtgIcee (B) fHI®Tar (c) usd gdr
(D) QuI=3 Z9 et &t

Answer - A

(L) TS ATt § I3 B 6 faga 33 ygries &dt saw|
(A) &t (B) TOdIT e (C) 39 T 3J " (D) TOat < famH
Answer - D

(5) U T AIFIT A I?



(A)  JUZF SEE w3 FIE WEHI AIFeT I (B) ST BIE WEHI HIIFTT I
(C) IUF TI N WSHI FIIFT' J (D) Buda3 T 3t &t

Answer - A

(6) Io Bfemr &9 fagz 3dtar quR & HAgSt due B8 odt TIf3mr 7|

(A) ACIAI JIfgz 3dla™  (B) Ie8I ASIIY I (C) I9Y SAC 3JT

(D) 3feddeg fAreA
Answer - D

(7) SUZ T WEIHS SHC feg off i3 Aer J?

(A) R & furror 7T 3 () gcdfenrderd (C) HAgS St At I
(D) QuI=3 &9 et & |

Answer - A
(8) IACTES 2AfCTr 3 S U3 A3 AT I?
(A) WIsdI8e  (B) TRERIE  (C) Ao 3 €8T U (D) QUISI HI|
Answer - D
(9) ST ufod I &t I I?

(A) I 8 Yz & 1 & Ul Wi I (B) Tl § SreT 591 € ufemiret gt 3
(C) U & Jarer, JaT S uferdt I F (D) BuIa3 R It &t

Answer - A
(10) =IfddT 3ot = I?

(A) A IS (B) FUREIIAIS  (C) quR S fume
(D) BUIS3 A



Answer - A
(1)  #&=I 3 Y3 Im fagzr I?
(A) Ivs (B) €5 (C)WwIHCH (D) §UI=3 A
Answer - B
(12)  AEdaT B fam Yara & ville =33t At I?
(A) Stype (B) Jtype (C) K type (D) L type
Answer - B
(13) 256 I €5 T F9 fdar I
(A) BU3 (B) fxds (C)drds (D) J&t &l
Answer - B
(1s)  fAfT Yot €T foS Ol & 379 HgH J98 I67?
(A) 5000Hled  (B) 9000 HIEd (C) 6000 HIcg (D) 3000 Hieg
Answer - B
(15) =83 fa? fanwrg Iae 957
(A) B RImOami§fedorsgd (B) faudias
(c) f3& 7 35 3 g urfymit § fedlor g3a (D) QuIas *Y &t &t

Answer - A

(16) €& g5e 3 fan 337 & THe W 37

(A) JUZ T I8c I (B) T TSI (C) IHI T I&c <4t
(D) QuII3 T e & |



Answer - B

(17) o FUB & fyAe B fagzT S99 T WHI Jug =93 Ia|
(A) 0d=9 (B) 1&99 (C)2dad (D) 3859

Answer - A

(18)  Hamifdar 3 &t I= IJ?

(A) <9H, 3B TEIS AS 36 § JfJe IS (B) R $ fder a9a & vk I6
(C) N Ia SR I6 (D) uIa3 *Y et &t

Answer - A

(2) Match the following

(19) fHes adi Answer
(A) SoAchs 2Afdar (A) CUfmig e A-B
(B) UBTE T (B) TG 3 IUR $ CHC SIS B-A
(20) fH®s I Answer
(A) Odterdad  (A) Sfedded fAreH A-A
(B) Tdigerse (B) ‘S’ B-B
(21) fHesadl Answer
(A) TS A (A) SR T B e A-B
(B) HIF3" (B)  USTE O9r B-A
(22) fH®&sadl Answer
(A) U & HAgS BE AT (A) Uz S fuFger A-B

(B) WHIHS SHAC (B) JI9Y SHC 3Jiar B-A



(23) fH®s ad| Answer

(A) IGe (A) darEdsus A-B
(B)  ufcret (B) TG T HE™ W3 USBUE B-A
(24) fHEs ad| Answer
(A) =8ifdar (A) R E AR I A-A
(B)  HoMfIdr (B) 38T TIITIAIS B-B
(25) fH®s ad| Answer
(A) AeRI IYU3 I (A)  Jtype A-B
(B) FMWTIIT Bt =33t e =8 Wilte (B) €s B-A
(26) fH®s I Answer
(A) SHfSar g2 (A)  FHHEIH fodE A-B
(B) IAfEqr B SAC (B) =M FuUF f3ng 9T B-A
(27) fHosadi Answer
(A) =83 (A) eI g T A-B
(B) 3N (B) ®3<Uufumit § fader g B-A
(28) fH&®S I Answer
(A) 256 JHEsTIT (A) HIWH TSI A-B
(B) =Iifdar gre (B) fEgus B-A
(29) fHEs adl Answer
(A) GuwEr (A)  FUZ G ACS IS A-A
(B) 3t Tt fam (B) Az I B-B

(30) fH®s adl Answer



(3

(31)

(32)

(33)

(34)

(35)

(36)

(37)

(38)

(39)

(L0)

(1)

(42)

(43)

(k)

(45)

4

(L6)

(A) Wiz T & (A) IS A-B

(B) IElG w3 TH T HR3 (B)  H2Sou B-A
Fill in the Blanks. Answer
TS CACIT e T SUR o TIUSTTST I (Hm)

ged 3 gme U S dTd A gFd ew G, Ffde I (HI=F3)

35T fHACH f&o S9d & e ISt J1 (9000 )

e e CE TB U Her | (HAT3)
5. . 3YEBI‘cTFTIAI  (A6I)
ICHCS F83 FUT M., & s 3 = J| (E5)

J-BOX HHI®.......... fafanr B8 =g3t A J| (Fefdan)

ASed JaTuet feg............. IR TS| (MYBEHS)
Imiafce JT TS Yoo de Isl (5g3 Ua)

ST HG o, Fyuz It I (CERESEIEY
FIHIITESH U ... Jade Iasl (3w

A e B R AT .o Joet I (fedm)

foR & In S dae Iufast.......c.e.. fafonr i3t A= 31 (FETS)
True/False Answer

& Tt € HAgSt § Y3 J9et I7 (ASt/933) (A



(L7)

(48)

(49)

(50)

(51)

(52)

(53)

(54)

(55)

(56)

(57)

(58)

(59)

(60)

<< Ot & HAgSt § ygries sg<t J9? (AJl/TB3) (7

gl & re3T SAfEI ear UsT St /et 91 (A /9®3) (A

e oA HAgS dR T51  (AJI/a®3)  (IB3)

2SHTIS Tdl a3 g8t 3t 3 TeR g1 (AJ/A®3) (A

T3 SUR T aaA &l I (AG/IBI)  (IBI)

Ao W@ I I IHd I AR 5| (AJI/IB3) (I183)

fegAce MGzl HI/AWI)  (I83)

€5, aug W3 fAgS gedst 3N I&|  (AJT/IB3) (A

IcHeS, Gen3 gs T a8z JI (AJI/TW3)  (IB3)

SEIfaT fafanr &% quz & dardt St 7 I (FA/IB3)  (T183)
ASed 391 Ure. f9 WyWSeHS de I&| (AR/IS3)  (FD)

IIH JAT A JAT IR IS (AI/IB3) (AT

Ughireg € Jare! f3Augn 3o o8 St Aet I (A /9s3) (A

fgruan Jar gt Sfimit €t fdard! 3dt =93 7 Ia| (ASt/IB3)  (F)

FJ3 8¢ YAS (3 MARKS)

(61)

(62)

(63)

(6L)

SIHCES SAfET a8 Agdt 97
Bl deds 3 ol I I?
ISO & YT &H off J?

TQM T YJ' &H off J?



(65) oIm at der J?

(66) IJmr yfgdgzr I &t Ire I?

(67) Tl T &89 U3 dIa T g Idtfamit T & ©H?
(68) THIT I T faAH © oH faa?

(69) WIS YSH of et I?

(70) m fAde i3 It I?

(71) ABSH T IrgT JTr off TIAEE I?

(72) 31 S ufeprst St It I?

(73) ufgrfes SAe 3 St Uz g8 J?

(71)  FwIaT fafawr & St S J?

(75) 3Ifedde J91 Inat Ko a3 f7d I8 a7
(76) oIH I g™ T fod frid I I&?

(77) WS Jargsd Y3t fad fad Ie 9&?

(78) Imigfer Jar uret Y3t fad fid Ie 7

(79) =Sifdardt gt I

(80) SFIfIar Emif famit @ & foH |

Short Answer type Questions (L4 Marks)

(81) JIACcTes 2Afdar 3 o Ie I? fom & G2H SR
(82) B JIB F A I I?

(83) 1SO 9000 T Ha®Y =9 rreard! fegl|



(8L) IN Tt BIE FI AYY &9 Aedat el

(85) I T ufgUasT g3 FAY &8 Arsarat i@l

(86) Tl T &89 U3 II& T & 3ol © e 13|

(87) Tt Tt I S famt g9 fBa|

(88) T CHAEI® HATST § YFies dd6 <% 337 E9 54|

(89) o & Ik I Ut St et 37

(90) wAWIII ot get I? fog faaz 337 3 fogsg age! I?

(91) TIIfdar st I? for St o™ 79 SR

(92) H3 < Ffedac I &% I9re 513 TH]

(93) HASBSI Ja1 &t Je I87?

(9u) iz Jar &t I I&?

(95) fHEa & IIH II1 &5 Jarer T I |

(96) U@MiACT T fIAUIHA I9T &8 Jardl e 3 ©H|
(97) WI3c It Fe I? foAT! applications (Examples) ©H|
(98) dJargt 3 &t 3= J? ferel HI33T =9 TH|

(99) HI GUI W W3 wBad T ygre 5|

(100) €& LT wHAL W3 WifF3 T Y= f5u|



TRADE:- TEXTILE WEAVING
SUBJECT:- POWERLOOM MECHANICS AND OPERATIONS
CLASS:- 10+2 VOCATIONAL

PAPER CODE:- 103

Question Bank for Disabled Student

Paper Powerloom Mechanics and operations
Trade-Textile (Weaving), Paper Code-103
(1) Multiple choice Questions (MCQ) Objective type PART-A

(1) UeIgH 3 92 I?

(A) far8l 3 I8 T8 HAlG (B) JH &8 O8c @8I HAG (C) U9 '8 T8 <8t
Hils (D) BUIT3 T 3t &t

Answer - A

(2 Jo B9 RY foast ueagH a4t I
(A)  EwIHSBH (B) TSIAC BH (C) I (D) Ui BH

Answer - C

(3) I Hic ueagH R9 fufdar &gt ot @afamr Aer 372
(A)  urEt (B) IT (C) I (D) BUII3 T It &t
Answer - B
(4 Iz B9 Y fogzr ueagH = fJar &t 37
(A) I= (B) 2us (C) 3=t (D) FUFT IS8T
Answer - C
(5) I Bfemr & fogzr uredgH & I3t &dt I?
(A) RIS IS (B) Yferdt A5t (C) AITex A5t (D) e Test 913t



(6)

(7)

(8)

(9)

(10)

(1)

Answer - D
U dadt 313t <9 66 Tag I8 Ia|

(A) féa@)T (c)da (D)TI

Answer - C

(A) T (B)H3(C)f3x (D) &=

Answer - B
Hes T Wag fad fragr der 37

(A) faEStEgar  (B) AU 94T (C) < Tar
&t

Answer - A

Jo fafemr 26 faoz 3=t T A J7

(A) AF(B)FF(C)TI (D) GuSa3 Al

Answer - D

3o fesfemr 23 gt yfnidt st ot 37

(A)  REFI IS (B) fufdar a3t (c) SHfdar a3t (D) SF-ny I3t
Answer - D

Jo fafemr & faogr A3 fsedn &t 3

(A) 7993 (B) I (C)SUe (D) IISH

Answer - D

(D) U3 &5 It



(12) RISt IeI?

(A)  TIUNI YT $ Fe&(B) B o § I=o7 (C) B U § g (D) Imft Tt §
g5

Answer - A
(13) S=Et T aH Jer J?
(A) B3 TIH S TIET (B) Hed § TR U TdoT (C) JuF gea' (D) f3fes g
Answer - A
(k) 3=t fFo &9 391 fam oA © 52 IR 987
(A) BI T (B) BaF T (C) g © (D) QuIF3 fFE At &t |
Answer - B

(15) AT I3 Fg &t o Jer I?

(A) TIUNWS g S g I I (B) 3 & © 3fnr R FHanwr Aer I
(C)ge g I uA IR UR AT I (D) QUIa3 RT et & |

Answer - B
(16) fufdar 13t &g &t Jer 32

(A SEfsuAIgRuASfmrae d (B) AT STfowrAT I
(c) gedtdetd (D) SUII3 A IH I I&|

Answer - A
(17) SRt ISt Ko &t d der I

(A) THUITATAI T I (B) e B U § HF I Sfomr Aer I
(C) U gerfowr A 3 (D) J1B3 TIH Ta AT I&|



Answer - B
(18) &c-wre I3t &9 &t i3 7w J|

(A) TIUT OG &8 &7 & 7T J (B) FUF™ Bdfew AT I
(C) Budas fRT fufdar St At & (D) SuIa3 & et &t

(2

(19)

(20)

(21)

(22)

(23)

Answer - A
(Match the following type)
J5 faftmr e figs a3
(A) ewgde (A)
() wTeddA<C  (B)
I35 fafimr T fHas aJi
(A)  dmE (A)
(B) JuuS (B)
I35 fafimr T fHas aJdi
(A)  uU=EBH  (A)
(B) JEHSt (B)
I35 faftmr e figs a3
(A) ewgde (A)
(B) Tednc (B)
I35 fafimr T fHes aJdi

(A) WS IS (A)

objective type

Answer
et A B
J<T B A

Answer
ACS A B
YIS B A

Answer

T % o5 TE il A-

JH 3% I8 T HHS B-

Answer

et @ o9 & @93 A-

I e T ©f 293 B-

Answer

fligs A- B



(24)

(25)

(26)

(27)

(28)

(29)

(30)

(B) W< (B)
Jo fafimr T fHes aJdi
(A)  ASI IS (A)
(B)  HITe ISt (B)
I35 faftmr e figs a3
(A I3 (A)
(B) dI®IHSE (B)
I35 fafimr T fHas aJdi
(A) W<H (A)
(B) =TIUEHMH (B)
I35 faftmr e figs a3
(A)  IUISET (A
(B) BewedISt (B)
I35 fafimr T fHes aJd|
(A)  TIUHASTY IS

(B) =3 ACY ISt

I35 fafimr T fHes aJ|
(A)  TE (A)
(B) &= (B)

I3 fafrmr e fHes 331

AT I3t B- A

Answer
28 Wiy I3t A- A
TIY ASY 13T B- B
Answer
St A A
G183 efeg B- B
Answer
T A B
a3t B A
Answer
ERSl-ra A- B
JUF FUCET B- A

Answer
(A) gTedcE 3 HHS IdeT A-

(B) 3T e 3 HHls gdEr B-

Answer
EERIISERAC A- B
Igd gy Ot B- A

Answer



(3

(31)

(32)

(33)

(34)

(35)

(36)

(37)

(38)

(39)

(L0)

(1)

(L2)

(43)

(Lk)

(45)

(A) gzt (A) RITTgE A- B

(B) Afdar () 3IEnw3gEdgEs B- A

Fill in the Blanks. Answer

UEIBH. oo oS TBE TH HAG I ()
................... Mo G WUART FEa S T @ WHR IG5 (F79Y, R2Q)
E42=1 122 A fg=dn J1 (Afdan)

NG C USI8H fRT. T Qg fufdar 38 =afanwr AT J1 (T=)
FUTIBI I o sUfenr Ater J| (euam)

LEIEE)IC | 1S S s fowr R MwrAe Il (I

A gt 13t R, dgad Ie Ial (dm)

H3 9ot I8t e Jod ge I&| (H3)

ACS T T S, Tgar Jer I (famsh)
Afdar, fffar w3 oo T gEmrIsl (ot
SFMUNMS BE M. ISt Fert I | (AIz)

S RIS AT e g ge I8! (BIAN)

HEB, BH SR URAL. Reshedtd  (7em =am)

T HIS....oon T3 I I (S

FH UTIBHT ..o yA e gt A<t 31 (8L@)



(L6)

(L7)

(48)

(49)

(50)

4

(51)

(52)

(53)

(54)

(55)

(56)

(57)

(58)

(59)

(60)

(61)

(62)

(63)

SIMY IS R U, 389 3 Bfenr AT | (FUFT)
BEEFHTH G forar AT J|

EERIESLREIC | o WU forgr wier J1

NI AC M WeAfed ureggH Emif faadt 951 (red AQ)
TRUE/FALSE PART-IV Answwer

UeIsH 9 fardl o5 98 T8 Hifle I (AR/383) (A
I w3 Aag3 Ba Afdar fa=rda adt I (FAd/IB3)  (T183)
ngH € BH f9 ger & =93 St /el J (FR/383) (A
JE, 2UB w3 JUFT IBJ URIBH © [JA I3 (AJt/9B3) (A
yfeordt 5t ueasH & ufadt a5t I (FR/383) (A
UH gadt I3t &9 A3 gaag I8 I6| (AJI/983) (IBI)
H3 Jadt 13t 9 A3 gaag I8 I&| (AJt/983) (A
HeS T wiad faa3t @gqr ger J1 (ASt/Is3) (A
AT, fufdar w3 Sfdar yfordt adr Is1 (AR/383) (A
S WY ISt AT ST & A I (Ad/aB3) (A
3= 3 S A1 I T Ie IS (AR/IS3)  (IB3I)
=2 2 ot & A7 S durfeor e 3 (At/aE3) ()
S gy Ol § T9Y T Aer I (AR/383) (A



(64) I3 T How Uit = g4 It J| (At /3IS3)
(65) HUSB T dH FuF § fifg & Suer I (HJ/3153)
VERY SHORT ANSWER TYPE QUESTIONS PART-2

(66) U<IBH I ot I=I?

(67) gFEE IS TTI?

(68) EnwgH e UeIgH at I?

(69) CIHCER I I I?

(70) T8 &E FUIF g6E THN HHlG § off W I&?

(71) 53 Aee Tt dH Jer I?

(72) WIS T HaS fan 337 It I?

(73) diZT I IHEA?

(74) Sus A I?

(75) St I?

(76) USIBH St Hedsh IS € & TR

(77) RfEFAIFS A I?

(78) I Y IS A3 I?

(79) Bewe ISt arI?

(80) TIUASCY IS I A = IJ?

(81) UIZH & YIH3 A< It At I?

(82) U IS fIF Sar Jer I?

(Adt)

(Adt)



(83)

(8L)

(85)

Jeugt IS Ie I?
THC I3 ISt ot 32

o s it o 97

SHORT ANSWER TYPE QUESTIONS

(86)

(87)

(88)

(89)

(90)

(91)

(92)

(93)

(94)

(95)

(96)

(97)

(98)

(99)

UeggH of gt 37 for @ fef3om 59 €A

UrEIgH W3 J3BH ST wizg eh|

gr e W3 Tedn ¢ ffg wisg Tn|

yreggH © fIfimr w3 G’ © I 79 TR
Yot 315t 3 off 3= I? fensg &3 TH|
Take up motion W3 Let off motion fSg 139 TA|
UEIBH T HIH3 T3 TR

UTIBH § 98 8T 3 ol =931 AE T8 Aregam 5|
USIBH T A8 HI'S I3 TH

3= Hifls 3 3T ol 2 J?

Auxiliary motions '3 feA3'3 &% THI

UEIBH T 3 5 fIfimr 579 5|

Ur g9t w3 73 Jadt 913t Re wisg Al

USIBH T Labeled f[d39 S8

(100) AT IS T3 feA3T &% TR

PART-3



(101) BfeH (Lattice) &< TR
(102) U<3gH 3 2 dererg &< B& o I3 7 Aeer I?

(103) AIE ISM o Jemrf I&? feAsg &5 T

(10L) I Wy I3 99 fers3g &8 Th|

(105) fBac © worg 3 3=t S fIAHT TR



